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PART -1/ ¥4I - |
CHILD DEVELOPMENT AND PEDAGOGY / 911 fa&r 9 Riamem=

Direction : Answer the following questions (Q. Nos 1 to 30) by selecting the correct/most appropriate options.
39T : freferfaa go4 (9. & 1 9 30) & IR a7 & [o¢ Gel/aad Sugar faehed g/

1.

P-I

Assertion (A) : Teacher should encourage boys of her class to participate in sports while assigning
art decoration to girls.

Reason (R) : Children acquire gender roles primarily because of the underlying biological
differences.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

fUmeT (A) :  Trfareht &l 3Tt el o TSl bl Wl H 9F o & T Yicdiiea i =1feq 9 arsfonal
1 el ST h Hrd < =AM |

ShIUT (R) : = Y& &Y 9 siaffed Sifas fu=iarsti % wRr SieX s T8 i € |

e forehed 9 -

(1) (A) 3R (R) I Terd |

2) (A) 3R (R) I T&I € 31X (A) T (R) HeEl SARSAT Il ¢ |

(3) (A) 3R (R) 1 Tl § AfFT (A) T (R) TEl AT T L B |

4) (A) F2 § R (R) Tod B |

Dysgraphia is characterised by :

(1) Difficulties in writing (2) Lack of reading fluency
(38) Repetitive behavioural patterns (4) Delayed motor skills
TG dhed hi TR ©

(1) fafea & & gE (2) UG % Femg §

(3) TIEUEER HeRR (4) facifaa wfaew e

In order to cater to needs of students struggling with Attention Deficit Hyperactivity Disorder
teachers should avoid :

(1) Flexibility in curricular materials and instructions
(2) Breaking the task into small easily manageable parts
(3) Using multi-sensory materials

(4) Creating distractions and making noises

Torerehl sl A =g SAfafshameficrar faeR ¥ S 1@ BB ol STewahdisti Sl &1 Wd q85d
REEEIEY
(1) Hreashy FRft 3iR et o ereferod

(2) hE H B SEAT § YeEA" wFl H dred
(3) og-Haal ARl 1 3TN A
(4) fadur R IR &
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During play time at school, Rishab, a 7-year-old boy picked a doll to play with. Some of his peers
made fun of him for his choice of toy. As a teacher who wants his students to grow up with gender
role flexibility, which of the following would be the best response to the situation by the teacher ?
(1) Tell Rishabh that he should play with something else because his friends won’t approve of
him playing with doll.
(2) Let Rishabh play with doll and tell other children that they can also choose any toy of their
choice.
(3) Quitely take away the doll and give a car toy to Rishabh without saying anything.
Talk to Rishabh that dolls are suitable for girls and boys should not play with dolls.

ﬁqmmﬁ@aﬁ%wmﬂ@7aﬁwaﬁﬁ@ﬁ$m@wm|mwﬁwﬁw

39 T6E o faan & fau sue ok 3| T e S oae foenfiei # i offten & aed |

e=ferre faenfia s = €, =i 3 feafa # frafafea § 9 se- gfafseen < =feg 2

(1) 99 | FHe =1feC fF a7 fordt o) faeim & g @ Fife 39 Sl ol I8 TR T € fF a8
e & WY W |

(2) Y I TFSAT o WY T <A1 AT TR GH Tl ol e =1feq foh o o ST 96 &1 FIE faaim
< Feha! € |

(3) To = *e Yfean FI T A1 AMMGY IR FHIH 1 T o Al FR T <A M6 |

(4) HY Y 99 HE Afen fF e defEa & fau swge § IR aewl # qfean & @ @ ge
=T |

Two important cognitive development milestones of sensorimotor stage of Piaget’s theory of cognitive

development are :

(1) Classification and seriation

(2) Object permanence and deferred imitation

(3) Reversibility of thought and hypothetic-deductive reasoning
(4) Animism and Transformation

st o HemIeTe faera & fagia & Ga<t arereh sTawen % < Hewqul WM fahrd Hiet & Teer € :
(1) =Rt 3R shuega

(2) a% TfaE iR Tfia sTeR

(3) et feda iR IReRfeqq- ATt e

(4) ShFaR R qREd

Assertion (A) : Children below the age of 5 - 6 years should not be pressurized to write ‘properly’
and ‘within the lines’.

Reason (R) : Children gain a control of finer motor skills from 5 - 6 years onwards.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

AMURAT (A) :  5-6T A FA U F o= bl ' Seh W' IR “wsii & ik’ ferem & o gama =1 g =nfea |
HIT (R) : T 5 - 6 TS & G Tk hIvIe i S8t A0 I L © |

e faehea I
1) (A) SﬁT(R M e B
2) (A) 3R (R) 1 T T 3R (A) T (R) TEl AR HIl € |

(3) (A)sﬁx(R)aﬁ'—ﬁvér%éﬁm (A) FT (R) T& =0 Tei 3l B
(4)  (A) W& & AR (R) TTerd €

LR FTRIn i 3 K



10.

P-I

Children -
(1) Come into this world with genetic codes that determine their destiny.
(2) Are greatly influenced by the social cultural context they grow up in.

(3) Come into this world as tabula rasa or blank slate.

(4)  Are born unruly and need to be socialized.

= -

(1) =9 i § iy ie & @y o1d € S St frafd @ & ¥
(2) T AmISe Hikhfae dey | 9gd yHfad e 8 o 3 92 3 2
(3) TOHER H ‘W@el e’ a1 w18’ % 9 H 9 g

(4) SR 9T 2 € TR 3% WrIfSTeR B Y STkl Bt © |

Assertion (A) : Teachers should use multisensory materials to cater to needs of students in an
inclusive classroom.

Reason (R) : Inclusive classrooms should adopt standardization of curricular materials as well
as assessment strategies.

Choose the correct option :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

AR (A) :  Teh FHST &l H BT i STALIRATH! Sl T A o faQ Fiereni 1 sgHaS! At &
ST w1 AT |

HIT (R) : AT eIl hl TTS=ia] HIHUT o A IRl o T Hedoh WM oh HIThIhT0l
1 I =18

et fashea ﬂﬁ :

(1) (A) 3R (R) S Terd |

(2) (A) 3R (R) 1 & T 3R (A) FT (R) TEl AR HIl € |

(3) (A) 3R (R) T W&t § AR (A) T (R) TEt = & o

(4) (A) 5 T Aferd (R) TTerd B

In the constructivist view :

( Individuals are conditioned to learn new behaviours.

( Learning is extending and transforming the current understanding.

1)
2)
(3) Learning is simply writing associations on the blank slates of our brains.
(4) Individuals are passively influenced by environmental events.

TEe! giehv ¥

(1) Al Tl TC TR @ o faw sTgRfaa fohan S g |
(2) HrEA adaE 99E o foar SR aftedE 7

(3) Ui 59 TR feurT i B wWie W G5 e g
(4) wafF iR weei ¥ ffeha w1 9 gurfad 2 €1

Kinesthetic learners prefer to learn through

(1) touching (2) doing and movir.lg
(3) listening (4) seeing
RIGECHAREIRH % HIeH § G 9HE Y § |
1 = 2) & AR FEH-TRA
(3 g™ 4) e
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11.

12.

13.

14.

P-I

According to Jean Piaget a child who is unable to understand the logic behind simple mathematical
reversals such as 4+5=9 so 9—5=4, it is because of :

(1) irreversibility (2) egocentrism

(3) perceptual centration (4) animistic thinking

S oS & STUR T o=l S OXe T SehHu S 4 +5=9 M 9—5=4 % W& & dh »! G0z H
3 md ¥, TR FRU T ¢

(1)  srRadrm (2) ST

(3) STIUNUNCHSE halhiul (4) Sfoaard 9=

Inclusion needs to be promoted through :

(i)  Flexible curriculum (i) Cooperative learning
(iii) Segregation and labelling (iv) Accessibility of building

1) @ @) @) @v)  (2) @) () () 3) (@ @) @v) (4) (i) (iii) (iv)
THTG 1 ST <4 o foTT o1 ST1a9ae § 2
(i) T WS (i) WEANTHE e
(iii) RYUT AR ATHERI (iv) I SURA
1) @ @) @) @) (2) @) () ) (3 (@ @) @v) (4) (i) (iii) (iv)
Piaget described cognitive development as occurring in :
1)  Four overlapping culture specific stages
) Four qualitatively different stages

2
3) Three progressive levels
4) A continuous continuum

(
(
(
(

T 3 d3rcaes faem =1 o YR aviF fean §2
(1) =R Afqeardt derfa faftre =wo §

(2) ¥R UTHE €9 9 = =X §

(3) 9 Ffaeia W) H

(4) U Fad Faed & €9 ¥

Assertion (A) : Scaffolding provided by the teachers hinders the learning process of children.

Reason (R) : Lev Vygotsky proposed that children learn independently by acting upon and
manipulating the environment.

Choose the correct option :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

IR (A) . Trereni gR1 USM fohan T sTetra Al shi e ot Ufshan § e St ¥ |
HIUT (R) : TS AR 3 FEfad fohan fo o= Tads ®9 9 TAieR W HE i 3R SHH 2T
FTh HEd |

F’rﬁﬁw@

1)  (A) 3R (R) I T ¥ |

2) (A) 3R (R) I &l § 3R (A) Tl (R) T A& FIA ¢ |

(3) (A) 3R (R) IF Tl € AR (A) T (R) Tl AR Tl el 7 |
4) (A) 92§ Aferd (R) T <

LR FTRIn i 5 K




15.

16.

17.

18.

P-I

According to Howard Gardner while a scientist would exhibit high Intelligence, a
sculptor would have high Intelligence.

(1) Transductive; Spatial

(2) Logical-mathematical; Bodily Kinesthetic

(8) Spatial; Bodily Kinesthetic

(4) Naturalistic; Spatial

eE MER & STHR Th S:AH g 1 I Y ST Selieh Th HlchR A
gfs =t 3= FfegH Bl |

(1) TiHSioa; e

(2) feher-Tifordra; TTfaeerdt

(3)  wenfeR; Tfasest

(4) Wepfdarel; Tefen

Which of the following correctly describes extrinsic motivation ?
(1) Motivation that comes from a sense of personal satisfaction.
(2) Motivation that comes from personal enjoyment of the task.
(3) Motivation that comes from internal factors.

(4) Motivation that comes from environmental consequences.

e o | 1 T et SifvdRon 1 w9 ol e § 2
(1) AR St SAfFaTa Sfte H e S 7

(2)  SRIYTON S T % AT ST 9 ST ¥

(3) AU S ST HRA I AT T

(4)  STRIYRON ST STaTERviE g § ST T

Meaningful learning is primarily NOT about :

(1) wunderstanding the concept (2) constructing knowledge
(3) developing skills (4) memorizing information
s1efqul ifer YA w9 9 foras a) & 72

(1) SRS hl FHSA 2) I FET

(3) e I faehT (4) SR Al &

In developmental terms, a time frame where an individual upholds an amplified sensitivity to
particular incentives for developing particular skills to function in an efficient manner is referred
to as of development.

(1) Stimulus period (2)  Critical period

(3) Encoding period (4) Incentive period

foerma & deel #, T v wmn fored T =t fafvre saronstt 3 wfa wRafia Hagwitera e ¢ e
o o Foe b ¥ 1w F fau favm S fowfaa o= %, 9 fawm #i HEaTs St
2l

(1) I afy 2) TErge srafy

(3) FHEATA/T=hITST Aty (4) UIEES sEfy

LR 6 K



19.

20.

21.

22.

P-I

Assertion (A) : Teachers should distance themselves from students and place primary
responsibility for learning on them only.

Reason (R) : Learning takes place affectively in an authoritative rather than a democratic
environment.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

AR (A) :  Toremehl 1 B § T SR Ta! =eT IR STTerH ot wreifieh fer 341 W S =ieu |

I (R) : ATTH Teh AThdif5Teh STATeRT o SIS Teh UehIfehRaTa] STareol § GuTet &7 § Bl ¢ |

[ foreheq = ¢

(1)  (A) 3R (R) ST Tora |

2) (A) 3R (R) I &l T 3R (A) T (R) Fel ARSAT T ¢ |

(3)  (A) 3R (R) I &l € AR (A) it (R) T AT 71& el T

4) (A) 92§ AfeRd (R) T g

Challenges in social communication are evident in :

(1) Cerebral palsy (2)  Autism Spectrum Disorder

(38) Learning Disabilities (4) Attention deficit hyperactivity disorder
qrrferer SeR H TAfaat fhad e et € 2

(1) wf&Tsh vememd o (2) i %H fawr |

(3) AfermHTHe forRatiar | (4) oA A sAfafsamied fasr §

Which of the following statement represents ‘Proximodistal” principle of development ?
(1) Identical twins living in different cultures can develop at different rates.

(2) Children develop ability to grasp the ball before putting beads in thread.

(3)  Children develop ability to sit up before standing.

(4) Development is multidirectional and multidimensional.

frefafed 9 9 w1 @ e faed & gdiv-guivge’ fagura w1 gfafafae s g2
(1)  3TeTT-STTT GEpiadl | @ arel ZHee S[gal STelT-3Tar <X ¥ fasrfad &1 ded ¥ |
(2) Tl 1 UM H fRA 9 95 = TS 1 Tehe i &EdT foeRfad i © |

(3) o= H @ T | Uge IS hI &A1 A fah B § |

(4) o ag-foumers iR sg-3mam Ban € |

In order to help students to become good problem solvers, a teacher should emphasize on the
practice of :

(1) approaching problems in a particular fixed fashion.

(2) breaking large complex problems into smaller manageable problems.

(38) centering only on one particular piece of information related to problem.

(4) focusing on information that confirms existing beliefs and preconceptions.

3= GHE GHIEHSRdl o1 | Tt s gera w o fag, e fes o1 fefafea § 9 g gk
T el A1 =My ?

(1) TaENst %l T fafire fyiia ale 9 g we |

(2) wE R Sifed TmEned il B ysuHg guwnst # fawifed &

(3) TEEN ¥ Hefyd SRR % had Th & T8e] W S ohigd |

(4) U THRR W AH S Tee ¥ Hioe favardi iR qatugl @i gfe |

LR FTRIn i 7 K




23. Assertion (A) : Effective teachers familiarize themselves with daily lives and socio-cultural

backgrounds of learners.

Reason (R) : Learning takes place in a social context.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

AR (A) : T et g 1 Franfiei & e Sfe iR St wMifSieh-wispfas gy 9
uftfad = 1

SHIUT (R) : AT T | Had H 3 g |

el fashed 94 ¢

(1) (A) 3R (R) S Terd |

(2) (A) 3R (R) I &l T 3R (A) T (R) el HRAT T ¢ |

(3)  (A) 3R (R) I T& € AfFT (A) T (R) T AT & el

(4) (A) 5 B Aferd (R) e B

24. Lawrence Kohlberg argued that :
(1) there are cultural differences in moral reasoning of children.
(2) moral development occurs progressively in stages.
(38) there are gender differences in moral reasoning of children.
(4) moral development in children occurs in a continuous manner.

ARE hrecrert 3 Tk o € for -

(1) o=l o Afde qh | Fiehids 3T 8 T |
2) Afaew fasr swibew =0 | Sar T

(3) == % Afqer 7k H fei 95 2 ¥

4) == H Afaes foee fFiR &9 4 g

25. Children learn better if they experience :
(I) Moderate level of excitement to learn (2) High degree of anxiety to perform

(3) Learned helplessness (4) Low level of alertness during activity

ECiSE] 39 W € dl 95k €9 § HEd ¥

(1) HEd & fou qeem ®R H1 3@R (2) USIE HH & T 3= 'R W @

(3) sifrm faaem (4) Tifdfafy & SRE 791 W1 & gaehar
26. Mastery Oriented learners typically attribute success to and failure to

(1) ability and effort; bad luck (2) ability and good luck; low ability

(3) ability and effort; insufficient effort (4) ability and good luck; task difficulty

TERd @ foaneff SR W goherar &1 99 F A § AR TTHerar H

(1)  rFar IR hiferen; B3 forea (2) A iR eT=s! fohema; e A

(3) IFFAT SR RIFT; ST HIferT (4) I SR oS! foRed; i wieE

-1 IR AR 8 K



27.

28.

29.

30.

According to Vygotsky’s theory of learning and development, which of the following is an example

of scaffolding ?

(1) Providing a student with a grade for their work as motivation.

(2) Providing a student with a reading assignment and asking them to answer questions
independently.

(3) Demonstrating a skill to a student and then having them master it on their own.

(4) Breaking a task down into smaller steps and providing support as needed.

AT & e TR fasma & fagia & o qER, fefafad § @ o 91 STiers 1 330 § 2
(1) SARIIRON & &9 H Teh BT I 37h HM o [ Tk A0 GSH HEAT|

(2) TS BHE HI TG I HM oA AR I WA €9 Y Tl o Soel o7 o T g |

(3) TS BT Tl Teh DA H Y HEA1 3R R 3% 3107 g0 W 30H HeRd =Ifeel T |

(4) Todt & =1 B =N | dre SR SEavIhd TR el YeH 6T |

According to Vygotsky children speak to themselves :

(1) To provide self-reinforcement when adults are ignoring them.

(2) Because they are egocentric.

(3)  Because their thought is illogical.
(4) To aid thought and for self-regulation.

SRRt & STTIR o= T 9 1 i © ¢

(1)  SACH-HIEIH UM FH o foI STa 5a%eh 3% SFe@l L @ & |
(2) HIfR o TRl B € |

(3) Hife STt Wi TIehah |

(4) foem iR - fraea # wema & fau)

At which level of Kohlberg’s moral development does individual’s ethical behavior mainly depends
on the mindset that “what do people think of me”?

(1) Non-conventional (2) Preconventional

(3) Conventional (4) Postconventional

HIEeTer o Afdeh fahr & ford =Ror § SAfe 1 Afdew aeR T&7 §U 9 39 AMfashal | R & © f6
‘A IR H R EHEd § 2

(1) TR-uruf (2) gA-IRul®

(3) URUREh (4) SR-YRUNH

Children often come up with their own explanations of events around them. On being probed as
to why does it rain Sia says - “God was tired of carrying the buckets of water on his shoulders”.
Such explanations :

(1) TIustrate that children are not capable of any reasoning.

(2) Prove that children’s thinking is much lesser than adults quantitively.

(3) Indicate that children have naive understanding rooted in their cultural context with which

they try to understand events.
(4) Depict that children have an egocentric view and cannot consider other’s viewpoint.

o TG YT ST 1 13T 1 3TaT ST Aieahd 31 ¥ | < < 2ieft , 9% g9 o X figan et

B ' AN 319 Tl W UM i Afeedl €-Geht o g 9 | UHT SATE-

(1) I Fd € o a1 Tk & o vam e )

2) arfed w3t € foh o= it 9re Soehl i qorl B A ® 9 9 9gd %Y ¢

3) Hohd <t € R Al B S0 Witapiaen URE % 3T | Fes’ 9HE Bt § fEE 9 weist & weee
T SRITITT L B |

(4) fafxa st € fF o= 1 U stemehiad gfieshion € 3R o g & gfteanior W fo=m =& & g |

LR FTRIn i 9 K
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PART - Il / 9T - I
MATHEMATICS / 1ford

Direction : Answer the following questions by selecting the correct/most appropriate options.

fA&9T - frefaad 39 & S o7 & [o7¢ Weh/aad 3qger faeeq g/

31.

32.

33.

34.

35.

What is the result when 7 kg 7 g is subtracted from 9 kg ?
9kg H ¥ 7 kg 7 g 1 M TR F1 IROTH YT Il & 2
(1) 1.093 kg (2) 13 kg (3) 1.993 kg (4) 1.93 kg

The smallest four-digit number which is a multiple of 6, 7 and 4 is :
IR i 1 98 =AdH G, S 6, 7 R4 F O T, T T
(1) 1008 (2) 1000 (3) 1002 (4) 1006

The product of the predecessor of 201 and the successor of 4781 is :

201 % qaadt 31 4781 % T &l TOHEA © :
(1) 965650 (2) 956200 (3) 956400 (4) 965560

How many planks of size 2 m X35 cm X 8 cm can be made from a wooden block 8 m long, 70 cm
wide and 40 cm thick ?

SmFﬂﬁl,70cmﬂﬁ§ﬁ?40cmﬁ%mao_@ﬁ@_vﬁﬁﬁﬁ2mx35cmx8cmmm@lﬁﬁﬁqﬁw
ST TR © 2
(1) 40 (2) 50 (3) 48 (4) 45

Students feel difficulty in solving division problems because :
(1) There are no informal ways of solving division problems

(2) For solving division problems students need to know addition, subtraction and multiplication
thoroughly.

(8) Students do not like the sign of division.
(4) Division problems have no utility in daily life.

forenfef=ii =1 9T 1 T B ) H HfoE o € e

(1) T oY HHeAst 1 5 A o foTT i STHIT=Rer et fafeai Tef 2 €

(2) YN S THE T B & A0 T eavash § o fomnedt s, we1 iR qon e =8t W ¥ 9 o
(3) forneff i 1 forg 9og &

(4) W FHES I IR Sed § g ST Tel ©

SPACE FOR ROUGH WORK / 7% & & fau wig
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36.

37.

38.

39.

Radha walks 3 km 725 m per day on Monday, Wednesday and Friday, whereas she walks
2 km 9 m per day on Tuesday and Thursday. Total distance covered by her from Monday to Friday
is :

T GHER, FHER 3T IERAR 1 UfAfeT 3 km 725 m Fewd! €, Safh HTeaR IR Jeeafdar &1 98 yfdfe
2 km 9 m Tt € | 39 R HHER § YHaR T =et T $el g ¢ -

(1) 15.193 km 2) 16.975 km (3) 16.202 km (4) 15.355 km

Which of the following statements is NOT true with respect to the concept of Fractions ?
(1) The mathematical notation of a fraction can be represented as a ratio

(2) It represents a part of a whole which is greater than 1

(3) The mathematical notation of a fraction can be represented as a division problem
(4) It represents a part of a collection of same objects

=i o0t eraumon % ged § frefafad 8 9 Si9-91 weH 9 E § 2

(1) TH =1 =1 It fa (Feem) e oud & &9 § fefud foan S e @

2) % T Ul 1 9 9N Fefa Far e S R A @

(3) U =1 =1 It fa (Feem) e fause gmen @ ey w0 & fo foman s aswar §
(4) I8 T GHM TGS 910 TR o 9 h (el e §

Which of the following letters has two lines of symmetry ?
= # 9 form ster =1 & wwfhfa @ §2
1) U (2) H ) B 4) E

Which of the following is most appropriate for including open ended questions in mathematics
class ?

(1) Answers to these questions are not given in the book
(2) These questions take more time to solve

(8) These questions are not easy to copy from each other
(4) These questions develop critical thinking in students

Tfora skt sheT B gaa fa et gl Rl FuTeRfed i & fore frefefaa § 9 9o ged ifyes Suged €2
(1) 37 9o o W q&a § T4 ¢ 2

2) T U P TA A H T Ay T ¥

(3) T Ul I Th-TW WV The AT AHE Tal T

4) 3 v fomnferi § steirerTeTe feiaa o fos i §

SPACE FOR ROUGH WORK / 7% &4 & feg smrg
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40.

41.

42.

43.

The value of = + S T

7 14 8
22 I mms
7 14 8
) ) ) = N
1) 5 2 12 ®) g @) 5
Which of the following has a definite length ?

(1) a plane (2) aline (3) aline segment (4) aray
= 4 @ form =1 w ffea g et 22
(1) T GHAA 2) THI@ 3) TH Ww@Ee (4) TR TR

The difference of the place values of 5 and 7 in the number 352876 is :

@1 352876 T 5 3R 7 % TIHT THET ol S :
(1) 50007 (2) 49930 (3) 49993 (4) 49997

A 3'd standard student, when asked to write one hundred and five in numeral form, s/he writes it
as “1005". This indicates that :

(1) s/he is unfit to learn mathematics
(2) The student is a slow learner
(3) s/he is mischievous

(4) s/he needs more help in understanding the concept of place value

e heT o Tk faenelt | <o Teh | U= i 37 & &9 H forag 1 gl <1 € f 98 39 41005 ' feraan /
feredt & 1 7 < S ©

(1) ¥ o dem § s §

) fornef dram & FAsIR §

(3) 9% IR T

(4) Y IR AF S ATIRON 61 THSH H TR TR ht STEAvIhdl §

SPACE FOR ROUGH WORK / 7% &Td & feg smrg
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44.

45.

What is the most appropriate cognitive skill that help students to recognize and group shapes
according to their attributes and properties ?

(1) Decomposition (2) Classification (3) Seriation (4) Conservation

Y IUGF IS hierel 1 & it faenfefii i foioaieti 3R Tull 3 ST 9R eThfaal ! Tearm iR

STeRT TR oM H Heg ol © 2

(1) 319 (2) effeRTm (3) SHHEG (4) HEOW

According to National Education Policy 2020 Mathematics and Computational Thinking is to be
given increased importance as :

(1) It can be a substitute for a teacher
(2) It is the most difficult aspect of learning in school
(3) It is foundational to human survival

(4) It is foundational to evolving technologies like Artificial Intelligence (Al), machine learning
and Data Science etc

T foren fifa 2020 T SR FHEEYEA Wra % T8 I gGEl Sl § i

(1) 78 T foe1sh 1 TH o Tohal §

(2) I Tha H W@ S g Hisd 91 §
(3) ¥E U4 e & faT gerya ©

(4) T8 TTE (AI), A @ 3R 221 WEw o7fe SiEft 39t g2 qeheishi ol STHR T

SPACE FOR ROUGH WORK / 7% &4 & feg smrg
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46.

47.

Which of the following statements are true with respect to ‘Data handling” ?

A histogram is used to compare the parts of a whole.

A graphical representation of data is easier to understand when there is a trend or comparison
to be shown.

A bar graph displays data that changes continuously over periods of time.

A line graph is used to show comparison among categories of data.

sitel T 3 ey Pt Y SR 2

T 3T o Rt weh syl & fafi=r aml 6t qorn e o fore o= foman s 7

3tiehel o1 TGl gRT Ye¥ 9eH | 9gd STEM 81 §, 9@ off siiehel o1 T a1 gor fo@m i 21 |

Teh SS-3Teid TH SRS TR Hdl ¢, S GHF o FY-HY AR Igerd & ¢ |
Teh X@T-3ATerg 3AThel ot fafi= S & s qo 1 & M ST 2|

Which of the following is least appropriate about Formative Assessment in mathematics classrooms ?

1
2

1)
(2)
®)
4)

4

It provides cumulative evaluations that helps to rank children
To check the progress of students during instructional activities
To identify students” conceptual understanding

It helps to identify students” misconceptions

T skt hemtedl # frefafead § @ HH-11 TS ST & o) | ol HH SUgH § 2

Ig Gl qedich Ut 1 € S foh el bl Jofieg 3 H HerRar Ldl
frdermersr forameraml & <R feenfefll st wfa =t e

fornfe™l sl STAUROTHS: TS 1 TEAH HEAT

15 forenfeai 1 wifa=ll 1 Te=am S B e el ©

SPACE FOR ROUGH WORK / 7% & @ fau wig
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48. In class III, 150 children were asked to name their one favourite fruit and results for 5 favourite

fruits were written in the form of the following table :
Name of the Fruit | Number of Children
Apple 28
Guava 26
Mangoes 44
Banana 14
Grapes 28

Choose the correct option :

(1)
()

(3)
(4)

The difference between the number of childrens who like grapes and those who like bananas
is 16.

The number of children who like Mangoes and Banana is two times the number of children
who like Guava.

Ten children do not like any fruit given in the table.
Equal number of children have Apple and Guava as their favourite fruit.

el 111 H 150 =41 § 37 THGIST T Tl & R H g1 T AR 5 THEIST Tl o IR bl e arferent

Y formn
el T T Tl h! TEAT

°C) 28
AT 26

Chee) 44

ST 14

ST 28

e forhed w1 g

(1)
()
)
(4)

SR AR el ! THS A a1 Il ot Hesil  STa 16 7 |

3T 3TR Hell UHE I It Tl i U, 3THES THE A dlel el Sl H& Hl T |
10 9=, 39 difeieRt § feu 7w fordi ot wel 1 e T8 hid B

e 3R TS 9GS FHH aTel =i sl &I 99H T |

SPACE FOR ROUGH WORK / % &1 & foq sg
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49.

50.

51.

52.

53.

Which one of the following is the most effective way to introduce the concept of area to fourth
graders ?
(1) Approximation and Estimation (2) Tessellations

(3) Abacus (4) Formula based method

ireft AT % ol I & 1 STIHRON § IR FUH 1 Ty Tl THT HA-H1 6 ?
(1) af=sed 3R sTgaH (2) CHORMH (eTwEfET)

(3) fram (4) I ST fafy

A person withdrew < 4,560 from his bank account on 4th of a month and deposited X 2,567 on 20th
of the same month. If at the end of the month, balance is X 3,125, then money (in ) at the start of
the month in his account was :

Teh SAfdd 4 39 b & @ § 9 fordt 78 i 4 IR 1 T 4,560 Fepmet 2R 6 7eéH | 20 aRIE
% 2,567 <41 4 feu | afe 7EH & ofd | SHF @a | 23,125 il 90 8, O HeH & IRY | SqF @ |
foRaHT gt (3 H) ot ?

(1) 5,118 (2) 4,998 (3) 5,213 4) 5,128

The missing numbers in the pattern 12, 14, 17, 13, 8, 14, 21, _, _ are respectively :
o412, 14,17, 13,8, 14, 21, _, _ ¥ 9w & H&AW HAW: T

1) 13,4 Q) 15,7 (3) 12,3 4) 14,5

Jasmine said, “A rectangle has two pairs of opposite sides parallel; a square also has two pairs of
opposite sides parallel and so does a parallelogram. So, both rectangle and square are also
parallelograms.”

Jasmine is at stage of Van Hieles theory of geometric thinking.
(1) Visualization (2) Analysis
(3) Relationships (4) Formal Deduction

SIEHH 7 e, Uk sTd | fadid ensti % € g IuHiaR B §; T o | off faudia ysned % 1 g
TAMIR B € 3R 3 YR Teh iR =qys # off | safeay o1 &R ot S & umiak =gy« i1’

I, 99 ¥ & fagia & sonfade T & TR WL
(1) g (2) fawedwm

(3) HaHl =t Ty (4) =i T
Which of the following is NOT related to Indian mathematics ?
(1) Baudhayan Sulba Sutra (2) Lilavati

(3) Charak Sambhita (4) Surya Siddhant
frfafed § @ SR-w1 Rt i § Hefua @& $2

(1) SEPr e g (2) et

(3) = Hfed (4) i fastd

SPACE FOR ROUGH WORK / 7% & @ fau wig
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54.

55.

The sum of the greatest and smallest six digit numbers that can be formed from the digits 5, 9, 0, 2,
8 and 6 (without repetition) is :

3Thi 5,9,0,2,8 3R 6 H (fo1 T ) 6 ikl HT TR S b ATt T IS 3R T BT HEAei
Wzﬁ"'{%:
(1) 1192209 (2) 1292290 (3) 1292209 (4) 1192290

A primary class mathematics teacher gave his students the following problem to solve :
“How many classes of 28 pupils would be needed for a school of 616 pupils ?”
One of the student solved the problem in the following way :
1 Class =28 Pupils
105280
10 » 280
560
2—> 56 — 10+10+2=22 Classes
616
Which of the following is most appropriate for the algorithm used by the student ?
(1) The student has used an incorrect algorithm to solve the problem
(2) The student has used the associative law of division across addition to solve the problem
(3) The student has used the distributive law of division across addition to solve the problem
(4) The student has used both the distributive and associative laws of division to solve the problem

fieh el & Teh TG & fetes F 279+ fa=nfefai o f=fafea s sa s Hi S
" 616 Toranferl & wpat o faw 28 fornfefal areft foraT wamedl =it sTereaehar grft 2"
e foenell 3 T9E o1 39 YR &t fohan ¢
1 en =28 To=mefi
10 280
10 » 280
560
2> 56 — 10410 +2 =22 %eg
_616
frafafaa § 9 foameft g ST &) 7 wemfafy & faw HF-91 Jod 39T § 2
(1) foeneft ¥ TwEn 7@ A & ¢ U Terd wemfafy e fa ©
2) fomneft ¥ wEn ga w0 % forw Am R faureH & gear fem &1 39 fwan §
(3) fomneft ¥ wHEn g F0 & faw A W favrsm % faawor fram w6 v fa ©
(4) Toneft 3 THEn Tt w1 % forw faure & faaor iR e SFt Fradt = swEn fea §

SPACE FOR ROUGH WORK / 7% &4 & feg smrg
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56.

57.

Most II graders are able to add two quantities like four candies and three candies, but when asked
to do 4+ 5 on a worksheet a large number of the same set of learners is unable to do so. What is the
most appropriate explanation of this observation according to National Curriculum Framework
2005 ?

(1) The learners are not ready for the use of abstract mathematical symbols
(2) Learners are not taught addition properly
(3) Some learners are poor in mathematical skills

(4) Learners are not interested in learning real-life mathematics

T T o SAferepier frenell wR et 3R A St St < A SieA § "arw g €, AfhA 9@ aehvie W
445w & foTu el Srar § @ stfeerier a2t frenedf Tan & § o1ome g1d § | U U=t @ 2005
% STTER THHT I HRIT § ?

(1) Toenefl st wirde st 3 ST S forg SR T 2
) Torenfeai st =@ S & = feraran st €

() T Torenedt nfordtz v § FAeiR 29 €

(4) Toeneft srfae wfor wem § w9 & @ €

A triangle having all sides of different lengths is called :
(1) A right triangle (2) An equilateral triangle

(3) An isosceles triangle (4) A scalene triangle

e Tt forgent el YSITd STemT- ST TTremgal i gt ¥, Heald ¢
(1) T G By (2) T gHaE Iy
(3) U wHfgETg By (4) T foromang Bt

SPACE FOR ROUGH WORK / 7% &Td & feg smrg
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2
~ 5 What is the most appropriate inference drawn from the

W | =

1
58. A child solved a problem : > +

solution ?
(1) Child has extended the concept of addition of natural numbers to addition of fractions

(2)  Child does not know addition of numbers
(3)  Child does not know how to take L.C.M.
(4) Child does not know how to represent fractions on number line
1,1 2 -
T o= J 99 B o St3=3! 39 T | way 39gH 1 Rt feRren S weRdn § 2

() =Y T e ¥ e F sEHmen %1 i 3 e e fate e d
(2) = I GEASH I el T ot ¥

(3) o= I TEAH HHIIS ol el 3T §

(4) == & QT fob fa=it <1 den Y W yefiia frar St

59. According to National Curriculum Framework 2005 mathematics teachers need to shift
towards :

(a) Promoting memorization and rigorous algorithms

(b) Mathematical reasoning and logic

(c)  Becoming sole authority for right answers

Choose the correct option :

(1) (b) and (c) (2)  Only (a) (3)  (a) and (b) (4)  Only (b)
TS UIST=@at ST 2005 & STAR 7o o frerehl s 30 3R e a3 ot oed ® ¢
(a) TERUN R e € ¥ TANNGH I g <l

(b) T ek foram

(c) U I o foaC THA SAfYHRT S0

el fashed _?ﬁ :

(1) () 3R () (2) F (a) () (a) ¥R (b) (4) e (b)

60. The sum of the prime numbers between 31 and 60 is :

31 ¥ 60 T & ST hi T G137 1 M T :
1) 311 2) 221 (3) 227 (4) 280

SPACE FOR ROUGH WORK / 7% &4 & feg smrg
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PART - 111 / 417 - 1l
ENVIRONMENTAL STUDIES / 9IaRVT 3/c4gH

Direction : Answer the following questions by selecting the correct/most appropriate options.

39T : freferfad gel & SW a7 & [ Tgl/aad 3ugar [aeeq g/

61.

62.

63.

64.

P-I

Cows have Short front teeth and Large and flat side teeth for which one of the following ?
(1) Gnawing grass and cutting grass respectively

(2) Snipping grass and chewing grass respectively

(3) Chewing grass and snipping grass respectively

(4) Cutting grass and gnawing grass respectively

TR % ST o ST B1E a9 WS % Sfq 99 iR A B &1 T = A ?
(1) SRERT: STH HaA U =9 hl h1e 6 fag

(2) L HE IS A1 HE =& 6 fag

(3) LN HE F&H a1 =9 FeA o fag

(4) R STE HIEH AU =9 I Fad & fog

It is 10 A.M. now in India today, it is around noon of today in .
(1) Singapore (2) London (3) Karachi (4) Japan

3111 319 R H 10 A.M. T8 ¥ | 71 & H I HeATRA
(1) famR (2) dA (3)  HE (4) SHE

In a child centered EVS classroom, which of the following activities would be LEAST likely to occur ?
(1)
(2)  Children will be seen actively working in a variety of activities.

(3) The seating arrangement will be seen to change according to the activity of the children.
(4) Children will also be seen sharing their experiences while discussing in the class.

TR ST Y ST g el ¥, Frefafed § 9 9 o foran wo@ @ 3t fewd 3 ?

(1) == el |, T o1 gd ge feam <7 |

(2) = TWe-eE i fdfafeEi § framiiear g ol id g foes <1

(3) =i @t TIfdfafy & STTER S3A i Fewen H gfied= g fewrg <

(4) o= HeT T =l A gU STIH A9 died gu off fewmrE <)

A teacher of Environmental Studies, while conducting an activity with some children, observes

some important incidents and also makes a descriptive note of the same. Which of the following
may be the tool of assessment ?

(1) Anecdotal Records (2) Rating Scale
(3) Portfolio (4) Observation List

TATERYT LA T Tk 187k FS ol o arae HA o SRH, F& Hedq0l TR 1 STaciieh Hdl §
qT IGhT Tk FJUHIHeR fewforr off o=t star § | F=fafad § 9 SH-91 3Tehel 1 SUHIT 81 Hohdl & ?

(1) SIS AT (2) T wha
() UEwIferE (4) TR g

LR 20 K

Children will be seen in the classroom, listening to the teacher.




65.

66.

P-I

Chapter 4 “Mangoes Round the Year” of NCERT Environmental Studies textbook has a story on
making mango papad so that children not only understand the process and technique but also
appreciate the skills of cooking and preservation. As per NCF 2005, which general objective of
teaching EVS is being achieved through this lesson ?

(1) To discuss how various things can be made from the natural environment.

(2) To develop understanding with the help of observation and examples related to our
experiences in place of abstraction.

(3) To develop an understanding of how Aam papad is made.

(4) To explain how much labor is needed to make an object.

TAHISSARE! ot TATER0T e ot eI & & STe™ 4 ' WIe 31| 12 HeH ' B 371 UI9g oFM &1 gl

& aifer =1 Ttk ufsran iR aediter &1 =1 GHYI, sifesh GehM ST HI&UT o vl 1 i TR Foh | TR

ISt shi TN 2005 % ATHR, 36 1S & HILAH W $HTH UgM 1 i |1 A 3599 I fopanm

WIE?

(1) R IREe & ford TR 9 fafie svqe s ST Fehd! © SHeh! == T |

(2) ST o T W AT FAIHAl o TGS H o TR Ta SN hi el § T &l o™
AT |

(3) T IS fFE YR T ST ST © THh! U fashfad Ha|
(4) Tordt =g &1 A B foral 90 T ST It § SHeh! SARAT HEAT |

A teacher in his environmental studies class, divides the children into groups and asks them to
collect some objects present in the school. After that he sits with the children and asks them to
distribute those objects into different groups. Children divide objects into different groups on the
basis of their properties. What could be the most appropriate purpose for the teacher to conduct
this activity ?

(1) The activity develops the child’s understanding of all the concepts.

(2) At the primary stage, children learn better by interacting with each other.

(3) By doing the activity, children make very few mistakes in understanding the definition and
facts.

(4) Activity strengthens the cognitive domain to a greater extent than the other domains of
learning in children.

Tk Torereh STt qfeRur S1ee it shefl § o=l sl §HE H dichy, foaamed ¥ AN 379 $9 I&U 5 i
%I FHEdl € | ST A1 I8 T o T A3H 37 g3t i fafiret wye # die o fore wear T 1 9= awgsii &
3o 70N o SR W fafis e # o 3d | e & g 39 Tfafafy sl U 1 = 969 STgH 35w
B ThT & ?

(1) wfafafy s=i % @t sTauronss @t awe fawfad wdt €

(2) WAfHF TR R I= Th T & 1 31 foran 3 gu Igd ol | 9 1 ¥ |

(3) ifafafy T F =1 9fear 3R qei 1 wHeH H 9gd S Tafaa #d |

(4) Tifafafy s # HrEe % 311 Uall S o B WIS U Sl HIH S qh HoEd B 7 |

LR FTRIn i 21 K



67.

68.

69.

P-I

It has been observed that some mistakes are made while observing the learning and progress of
children. These mistakes may be the result of our biases. Which of the following information should
not be recorded as a bias ?

(1) Prior experiences regarding the ability and performance of the children.

(2) Previous results related to the examination of any one subject and any area thereof.

(3)  Social background of the child.

(4) Samples of the children’s work in the portfolio.

T I T © o o=l o i SRyl o STl hd 99T i Tafadi & Sl § | 98 Tafaa gur
Al o1 IR 8 Rt € | Frafafed 8 | wF O g U aie % §9 § T 911 e A 2

(1) == i Graar 9 & feaeT & Sey H ugel & ea |

(2) fodt w faw TR 39 et T &1 &1 T | 2 79 g |

(3) == I G gEYH |

(4) ICHITEE | = ok i kA

Read the statements I and II.

Statement I : Due to anaemia, children do not grow well, and their energy levels are low.
Statement Il :  Anaemia affects both, children’s physical as well as mental health.

Choose the correct answer from the following :

(1) Iis false but Il is true (2) Both I and II are true
(3) Both I and II are false (4) Iis true but Il is false

FYT I TS [ &1 99 9 92 |

HAA[: ST & RO o= 31k ¥ 9 el I & IR STH el off FH St T
HITIL: ST o= ot W iR feArt dgesil W TR il 7|
foretferfiad § & wd Se 9 -

(1) 17ed € fhg I ©) 2) TAIIAA I

() THIITE I § | 4) 1% e fRg I Terd © |

Read the Assertion and Reason properly.

Assertion : An elephant herd has only female and baby elephants.

Reason : Male elephants leave their herd after 14 - 15 years and move around alone.
Choose the correct answer from the following :

(1) Assertion is false but Reason is true

(2) Both Assertion and Reason are true and Reason is the correct explanation of Assertion
(3) Both Assertion and Reason are true but Reason is not the correct explanation of Assertion
(4) Assertion is true but Reason is false

AR Tg SR F & W TS ¢

fireRe : TR & g | haat sfafm@i oik o= € wd E1

HIT : T1efl 14 - 15 9161 9IS € BIS < § IR 3Tohel W B |
freferfion & & wa ST B o -

(1) SfeRer e ¢ foheg ShIOT W 7

(2) T, PRI T THINUT TEI  TH RO, AR Tl TEl AT Il ©
(3) T, TR T THIUT WEl T fohr ST, TR i T SATEAT & Hl ©
(4) SAfEReE WE T foheg HIOT T B

LR 22 K



70.

71.

72.

P-I

Read the Assertion (A) and Reason (R) carefully -

Assertion (A) : The goats from which the soft pashmina wool is collected are found on very high
altitudes of 5000 meters in extreme cold.

Reason (R) : A coat of warm hair grows on goats body which protects it from extreme cold.
Choose the correct option from the following :

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) explains (A)

(3) Both (A) and (R) are true but (R) does not explain (A)

(4) (A) is true but (R) is false

PSR (A) TAT S_IUT (R) Tl AH 9 T :
afireRe (A) : 59 Il & aTell § ol RIHiAT 9t SFIT S € o ST 5000 HieR S # e
ST & STET ogd Wl gt ¢ |

T (R) : Ta TSl | T % foT SR & IR W TR 9l % TR ST ST 2
Fretferfian & g fosen &1 9 -

1) (A) 7o § fog (R) W& ©

(2) THI(A) T (R) & E T (R) , (A) T AT AT ©

(3) =i (A) T (R) WEl § fh (R), (A) T = el el

(4) (A) ®E & foreg (R) TTorl €

Consider the following statements A and B.

Statement A : In 1969, Neil Armstrong was the first man to walk on the moon.

Statement B :  In 2007, Kalpana Chawla set a new record for the longest space flight by a woman.
Select the correct code from the following :

(I) Ais wrong but B is correct (2) A and B both are correct
(3) A and B both are wrong (4) Ais correct but B is wrong
= feu 7Y el A B W foeR HifST

HAT A T{1969 H et AT |g W ITA a1l Hod gl AR o |
HIT B : T 2007, H Heqdl FEal SHaRe H Hol o THT q% T8 arll geall Afear of |
forforfed § & W& #rs 9 ;

(1) ATedE W B 2) A 3B A T ¥
3) A 3B M Mo € (4) AWETIRGB AT
Select the correct match from the following :

(1) Bharatnatyam - Odisha (2) Kathak - Karnataka
(3) Bihu - Assam (4) Lavani - Tamil nadu
forfetfaa & & W@t frem 90 -

(1) e - SiEn 2) YR - FAH

3) fog - erEm (4) e - qiHeTg
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74.
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Mohan is a class V teacher of Environmental Studies. He writes the following activity on the
blackboard in his class. “Find out about the availability of water at the time of your parents and
grandparents and compare it with the current situation.” For the above activity, which of the
following strategies would be most appropriate ?

(1) Project (2) Discussion (3) Interview (4) Role Play

Hig el 5 1 Ueh TAIaXvT 3162 o1 f¥neres § | o o1t shen H frefafaa nfafafy &1 vamug w ferem
14 3T ATt 3T SraT-T1e % WHT UM Rl ISl o SR H qaT R IR STkt aaAe feurfa & ger
H " IR afaty & foe, fF=fafed § § ®F & 99 3uge Wi grf 2

(1) ufEsE 2) == wE (3) HIETEhR (4)  offee fade

A person would not drown in the dead sea or a salty lake even if the person does not know how to
swim. This is due to :

(1) volume of sea water
(2) high density of sea water
(38) low density of sea water

(4) neither high nor low density of sea water

T SAf Ja TR A1 T S § T oM el & 98 ORAl 7 ST 2 | SHehT 998 ©
(1) §Hg S 9 S A

(2) HHS % UM 1 I S

() Hqg % UM T TEE

(4) FHZ % 9 A1 A 3, 9 1 A

Read the statements A and B carefully -

Statement A : During the cold season lizards go into a long and deep sleep.
Statement B: Some animals go into a long, deep sleep in certain seasons.
Choose the correct answer from the following :

(1) ‘A’ is incorrect but ‘B’ is correct.

(2) Both ‘A’ and “B” are correct and “‘B” explains “A’.

(3) Both “A” and ‘B’ are correct but “B” does not explain ‘A’

(4) ‘A’ is correct but ‘B’ is incorrect.

FYT A Td B &l 29H 9 ¢ :

HAT A : 3 F HiEH § foumkferal awlt ok el fagr # = s ¥

HITB: T Hgall H, F TR ofwhl, Tl g1 H =t < ¥ |

Frefafed § 9 9@ SW & T4 ¢

(1) ‘A’ 7oA § T B 9- T

(2) THI ‘A’ AR ‘B’ Tl € AR ‘B, ‘A’ i TRl AT T

(3) <HI‘A’ IR ‘B’ W& ® W ‘B, ‘A’ i TEI AT T T |

(4) ‘A’ 9 B IG B’ TeW
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77.

78.

79.
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Lesson 13 in NCERT’s Class V Environmental Studies textbook describes the amazing journey of
“Gaurav Jani”. This lesson is a part of which of the following themes ?

(1) Work and Play (2) Family and Friends

(3)  Shelter (4) Interrelationship

TAHESTRET o a0l 772 i Ui=ell el sl Tieaqeds B 118 13 ¢ 1ia S’ 3 31gYd AT <l o
FA 1 Tg I Freafafeaa § 9 wF 9 oftg w1 femmn g2

(1) &M AR TA (2) 9RER iR =

(3) @™ (4) IE Hey

How much time “boiled milk” takes for digestion in the stomach ? Choose the correct answer from
the following :

(1) 5 hours (2) 2 hours (3) 3 hours (4) 4 hours
‘S g3 g¥' U H yeH | oo wHa oian § 2 frefafed § 9 w@ s S 9o |
(1) 5% (2) 2% (3) 3% (4) 4%

Rakesh is a teacher of Environmental Studies of class V. He asks the children in his class to do an
activity. In which, all children observe which “object floats in water and which sinks in water” ?
After the activity some children ask the teacher why some objects sink in water and some objects
float in water. What is the most appropriate thing a teacher should do in the following situation ?
(A) The teacher should tell the children that this is happening because of the density.

(B) Give each child the freedom to observe, record their observations, and interpret those

observations.

(C) Provide opportunity to each child to hypothesize, test and make activity based generalizations.
(D) Teacher should say that the main reason for this you will understand in your higher classes.
(1) (A) only ® (A) Band(© () (Byand (@) 4 (C)and (D)
THIT, FHET 5 1 Teh YATEROT LI 1 1eteh T | 9 3191 el | =il 9 U fafafes s & for e g |
s gt =1 718 sTaciieR od § fof e 9t ag I B R € o) b o ure | g it §71 2 fafafy
F ST F a=3 ek | yd € FF T2 oge ot | <o it € oI o a%ge o § G ¥ @ =i S
Trfataa aikftafa § we R o1 1 T ST w1 =y ?

A) foes &1 = § FE =T o T 99 & SO @R

B) WA® ao ol Fdteror A, s1oet femfor <ot e 3R 37 fewafordi w1 o1ef oam @t ST |

(

(

(C) U T I URHTTAT A, T HA IR Tfafafyy snenfia A=At i &1 STawR U |
(D)

(

D) f¥&reh &l I8 g1 A foh SHRT & HRU AT I TSI hafsdi § Tl |

1) FE () @ @AEFO @ EMO @ (©WRD)
In a constructivist EVS classroom, which of the following is NOT seen to be happening ?
( Children are using their experiences to make new connections between concepts.

( Children are learning by doing activities with concrete objects.

)
2)
(3) Children’s experiences are being respected.
(4) Children are just solving familiar problems.

AT 74T i Ueh AT el B, frefafad § 9 w9 o foren & St 58 foue <t 82
(1) o= TAYRNSAT o o i T8 RISl Sl SIS H T 3TIHT ST I R © |

(2) == 3E TEGR R TR ek 9 | R

(3) == % TS P T eI = W@ |

(4) == A% I TEaH oA T @ S |
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Which one of the following is a group consisting of elements only ?

(1) Tin, Lithium, Sodium (2) Sodium, Brass, Potassium
(3) Bronze, Copper, Aluminium (4) Steel, Iron, Zinc
frefafed # @ «F o1 99 Fad qi 9 S 8 2

(1) fem, faform, difeaq (2) difead, I, delEd

(3) 9N, W, THAIH (4) i, e, N

A person boarded an express train on 30 January 2023 at New Delhi for Bangalore. The train
departed from New Delhi at 17 : 00 hours and reached Bangalore at 17 : 00 hours on 315 January
2023. If the distance between New Delhi and Bangalore by train route is nearly 1776 km. The
average speed of the train during this Journey was :

ek Aferd = 30 STHeRT 2023 i T8 feoell M 9 sie® o fal ¢4 gehel | 7 7% fooeft |17 : 00 ¥ T et
3R 17 : 00 ¥ W 31 SHadt 2023 HI ATMGE wgHl | Al T feeedt iR SerE & = wT gl e
1776 fohaimiex &, df 7 it T 9 st ofrwa fa s 2t ?

(1) 71.04 km/hr (2) 74 km/hr (3) 80.72 km/hr 4) 7721 km/hr

In the following question, Assertion and Reason are followed. Read the statements carefully and
choose the correct option from the following :

Assertion : The curriculum of Environmental Studies is theme-based and each theme is
interreleted.

Reason : The main reason for keeping the syllabus of Environmental Studies theme-based
is that it creates a deep understanding of each theme and each theme begins with
questions.

(1) Assertion is false but Reason is true.

(2) Both Assertion and Reason are correct and Reason is the correct explanation of Assertion.

(3) Assertion and Reason are correct but Reason is not the correct explanation of Assertion.

(4) Assertion is true but Reason is false.

frafafad e #, Aferem TR ST 1 11 @1 71 € | el bl &M 9 U8 iR fAfafed § 9 @@l
fasheq &1 =7

AfirereT YITE0] 31T 1 reT=d] At 9T 3iiid & 1R goer offH ofa:Heifd € |

HIT: TATERYT 3TEFE & UIST=l ohi o MR T 1 Wo q&A R0 § T 399 & ofiH
I TR T I § SR T T YoeTd wared 9 2t ¥ |

(1) AFHFRYT A § T TR T ¢ |

(2) SfueRed 3R HRUT W T IR HROT, ke F TE = ¥

(3) AIERe 3R HRUT TEI ¥ AR T, fUehem it TEl = T 7

(4) SfUwRIT T T AR RO 379 T
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Siddhi is a teacher of class 4. She takes all the children of her class to the playground to play

Kabbadi, while teaching them lesson 10 “Hu tu tu, hu tu tu” of the NCERT Environmental Studies

textbook. Before playing the game, she also explains the rules of this game to all the children. Why

does the teacher tell the children the rules before playing this game ? Which of the following may

be the most appropriate reason ?

(A) She wants to draw the attention of the children that in life like in sports, we make rules.

(B)  So that all the work is done properly.

(C) We are all bound by the rules in the same way in the society by which we settle differences
and conflicts among ourselves.

(D) By making rules, the attention of all children is much more on the rules than on the game.

() @and (@) @) (&), Band(© @) (Wand(®) (4 (O and (D)

fafs, T Har 4 Fi fafaer €1 98 70 el 6 Il I TTHISSTNE! o THER0 LT Tl qISIIRIH Hl

T 108 qq, §A QL ToM & e w+ft oAl 1 98 W & UM T o S hag! Gl Rt 8 | 8e Ser

Y vEcl e 9ot oAl ol 39 WA o T off St § | Rifareht 39 B %1 ' 9 98 a9 1 e =il e

¥ ? frafafed & @ ®F 91 9o8 39 HRUT & Tohdl ¢ 2

(A) o8 =l 1 S 39 SR Tiadl 9edt § i O ot a6 & Sitaq | off g9 e o9 €1

B) difh @+t s &I 1 9 foh ST |

C) & a«f gu § 3ot yohR & fromi § o9 ¥ 5wk gr en oy # 7ads oik e gersd 2

D) e oM & Tt I w1 oA T it oTen W W aga 2ife W g

) WMD) 2 @GO @) @B @) (© D)

Two Indian birds make nests which hang from the branches of trees or bushes. These two birds
are :
(1) Tailor bird and Indian Robin (2) Indian Robin and Weaver bird

(
(
(
(

(3) Sun-bird and Tailor bird (4) Barbet and Sun-bird

T IR Teft &7 AT ST HY Sl W T eIeshdl Sger s € | 3 & YR 9aft €

(1) i fafen o) %o fot 2) Fa fat iR diax gaft

(3) vER@R iR SR fafen (4) 9Ed N IR AER@N

Child describes different skilled work related to farming and their inheritance (from elders) in
daily life.

The above statement is :

(1) Learning objective (2) Statement of competency

(3) Learning outcome (4) Learning indicator

a1 fafie Fret w8 Gt iR S St § 3! foma (ol §) 1 9uiF S 7
U HUA T

(1) HEd & e (2) <& HU

(3) HEd & gfdwa (4) ¥ed % gEs

The state/union territory having coast on the Bay of Bengal is :

(1) Kerala (2) Telangana

(3) Andhra Pradesh (4) Karnataka

S I WIS W g q el T3/ Hentad gou FAfafea F A R e ?
(1) (2) T

(3) Y wew (4) e
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What is the reason why tales and stories have been given an important place in the textbooks of
Environmental Studies ? Which of the following may be the most appropriate reason ?

(A) At the primary level, the teachers of Environmental Studies narrate tales and stories with
interest, that is why they have been given an important place.

(B) The use of stories has often been considered important in developing children’s sensitivity to
environmental issues.

(C) Because children easily relate themselves to the characters of the story, that is why they have
been given an important place in the textbooks.

(D) Tales and stories are liked by the society, that is why they have been given an important
place in the textbooks of the environment.

(1) (A)and (B) 2 (A)and @)  (3) (B)and (C) 4) (O and (D)

T HR } TR Tafawr e it weagwash | fored 3R weifl ot Hewrul T fean wn ® 2 frefafea

H W FIF 1 G ST HROT & Fehal § 2

(A) I WR R FARRY 1 o e fhe 3R Fwarfal &l o9 oo g9 8 SEifae saen]
gl €T foa T 7 |

(B) Sl T TRV ¥ Heiferd qE % Ui HAGierl fasfad A & fau TR fored iR et &
TEIHTE YUl HH1 T R |

(C) =Fiifen s/ et & U | 39 AU STEHT A SIS oid € SEfery 3en! Iree T&dehl # Heeqol €2
femn B

(D) Tored 3iR Il T o1 TE% © SHITAT $7h! TATERT Sl Ied J&iehi H Haaqul M fedn T 1

) @IMEB @ WMD) Q) BEWO @) QWD

Archana is a teacher of Environmental Studies teaching class IV. She forms two groups of children
in her class and conducts a debate activity on the topic “Should the school have uniforms or not”.
Why did Archana organize a debate in her class ? Which of the following may not be the most
appropriate reason ?

(A) Debate gives children an opportunity to think about and understand different aspects of a
topic.

(B

(C) Children get an opportunity to share their experiences in the classroom.

(

~—

Children are encouraged to express their views in the classroom.

D) Children assess the knowledge of their peers through debate.

(1)  (B) and (D) 2) (B), (©)and (D) (3) (A), (B) and (C) (4) (A), (C) and (D)
ST, haT 4 1 Teh TAToRYT 31288 i fferent ® 1 9 o791 el § 9= o <1 9g ot & iR former
H o S =feT a1 TR 39 fowa W ane-faang nifdfaty st 8 | $Te 7 1o e § ane-faarg
e ? frefafad § 9 i o1 Tl STgE R 6 B Gehdl § 2

(A) 9% foare 9 a=ii &l fhet a1a & fafve Teqsll o o) 9 e 3R 993 1 dien fied 2 |

B) el H ol ol STUHT T WA o faw Wiewmed fieran ® 1

el | Sl T STUT ST WIS HiA ohl TR I Biell § |

e faae | o= 79 TIferi % FH T Ahe H od |

) BED 2 B, QD @) (A)BIO @) (A), Q) IRD)
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In the following question, Assertion and Reason are followed. Read the statements carefully and
choose the correct option from the following :

Assertion : In the lessons of NCERT’s Environmental Studies textbook, real incidents of
common life, everyday problems and some burning problems related to today
have been kept.

Reason : Children can debate openly on all these problems, be aware of the problems, be
sensitive to them and make correct understanding.

1
2
3
4

Frafafed ue= o, Aferam 3R hIUT 1 31 W T T 1 FHUAl I 9 9 IR et § 9@ w@@
forehed 1 = &Y :

heA : TAHIESTRE] o, TATER0T ST o U1 Y&deh o ISl B 31 et st amedfass see,
Tt =Rt e TR TS W Sl $© Sooid FEEe S W@l T E |

HIUT T 9t THEeT W a= AR 989 H Toh, AL H A 7, IToh Ifd HogTeia
o 3R HE A o1 T |

(1) AMUFRYT 3TH 8 T HNOT §A ¢ |
(2) RYT SR HROT A T & 3R /T, UKL i HE e © |
(3) AfeRYA 31X HIUT e § ifeh hIUT, TR %t TEl =aren T2 ¢ |
(4) SIfUwhed T T Afehd SRUT 379 T

Assertion is false but Reason is true.
Both Assertion and Reason are correct and Reason is the correct explanation of Assertion.

1)
()
(3) Assertion and Reason are correct but Reason is not the correct explanation of Assertion.
4)

Assertion is true but Reason is false.

Read the following statements and choose the correct option.
Assertion (A) : Biomass and Fossil Fuels are the two main conventional sources of energy.
Reason (R) :  Conventional sources are those which are renewable in nature.

(1)  (A) is false, but (R) is true (2) Both (A) and (R) are true

(3) Both (A) and (R) are false (4)  (A)is true, but (R) is false

et et =1 afen T w@t fashed T -

AR (A) . ST9 AT TF SHAEH S8, ST So1l o T & & |

HIT (R) : IRUN ©id o & FSent Ture Faieoi e g

(1) (A) el @ 3R (R) & ¢ (2) T (A) ¥R (R) T E

(3) THI (A) 3R (R) TTerd § 4) (A) 5E B IR (R) T §
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PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-IV (Q. No. 91-120), if they have
opted for ENGLISH as LANGUAGE-I only.

Read the passage given below and answer the questions that follow : (91-99)

Shreeram Lagoo was acting in a play staged at Ambernath’s Gandhi School. We had managed to
get the tickets for the play after much running around. We left the hostel quietly after eating dinner in
the mess. The play started at 9.30 p.m. and it was already 9.15 p.m. Patil and I were rushing along the
road to the station. Suddenly we saw Upadhyayji coming from the opposite direction. He had seen us.

‘Maharshi, where are you off to at this time ?" he said reprovingly.

We looked at each other’s face. Suddenly Patil spoke up, ‘Sir, I have a headache. We are going to
the station to have some tea or coffee. We will be back right after drinking a cup.’

‘Why, don’t you get tea and coffee in the mess ?’

‘We do, Sir. But today there wasn’t any milk in the mess. That’s why we are going to the station’,
Patil improvised.

Upadhyay said, ‘Come with me. I'll get you some coffee.” He brought us to his home. The tickets
for the play were squirming in our pockets. We couldn’t work out how to get him off our backs.

After seating us in the drawing room, he asked his wife to make the coffee and sat on the sofa
across from us.

As soon as Mrs. Upadhyay entered the kitchen, I got up and said, “Ammaji, Warden Saheb is
bothering you unnecessarily. I will make the coffee’.

She was pleased to see me. ‘Maharshi, you go sit ... I will make it.”

I went up to her and whispered, “Ammaji, both of us were going to the Gandhi School to see a
play. Warden Saheb waylaid us and brought us here. See, here are the tickets, but he doesn’t know
anything.’

Ammaji examined me from head to toe. ‘I see. Is it a good play ?’

I said , “Ammaji, it is very good.”

‘Then why don’t you go ?’ she said with a laugh.

‘How can we go ? Warden Saheb won’t give us permission’, I whispered.

She came into the drawing room. Listen, what kind of a warden are you ? Why don’t you let the
children go and have some fun ? Go, Maharshi, but don’t be too late.

91. ‘The tickets for the play were squirming in our pockets ’

What literary device has been used in the underlined expression.
(1) Simile (2) Alliteration (3) Oxymoron (4) Personification

92. Which of the following statements is True/False ?
(A) The boys had purchased the tickets in advance.
(B) Mrs. Upadhyay supported the boys in their endeavour.
(1) (B)is True but (A) is False. (2) Both (A) and (B) are True.
(3) Both (A) and (B) are False. (4) (A) is True but (B) is False.
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94.

95.

96.

97.

98.

99.

P-I

Which of the following statements is True/False ?
(A) Mr. Upadhyay met the boys inside the hostel.

(B) The boys were already getting late for the play.
(1) (B) is True but (A) is False. (2) Both (A) and (B) are False.
(3) Both (A) and (B) are True. (4) (A) is True but (B) is False.

‘We had managed ... " Identify the tense of the underlined expression.

(1) Present Continuous (2) Present Perfect

(3) Past Perfect (4) Past Indefinite

Choose the expression similar in meaning to ‘improvised’ as used in the passage.

(1) to declare (2) to tell the truth
(3) to shout (4) to make it up

Mr. Upadhyay’s professional role in the institution was that of ...
(1)  the hostel warden (2) an administrator

(3) the principal (4) a teacher

What did Mr. Upadhyay do after hearing the boys ?
(1) He took them home for coffee.

(2) He did not react at all.
(3) He allowed them to go.
(4) He talked to them and walked away.

How did Mrs. Upadhyay receive the boys at home ?

(1) She was displeased with her husband for bringing them home.
(2) She welcomed them.

(3) She was unhappy to see them.

(4) She received them coldly.

Why were the boys sneaking away from the hostel ?

(1) To play football (2) To watch a movie

(38) To see a play (4) To have a stroll
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Read the extract given below and answer the questions that follow : (100-105)

100.

101.

102.

103.

104.

105.

v

O what is that sound which so thrills the ear
Down in the valley drumming, drumming ?
Only the scarlet soldiers, dear,

The soldiers coming.

O what is that light I see flashing so clear
Over the distance brightly, brightly ?
Only the sun on their weapons, dear,

As they step lightly.

O what are they doing with all that gear,

What are they doing this morning, this morning ?
Only the usual manoeuvres, dear,

Or perhaps a warning.

O why have they left the road down there,
Why are they suddenly wheeling, wheeling ?
Perhaps a change in the orders, dear,

Why are you kneeling ?

The poem has been written in the form of ...

(1) an epic (2) a ballad (3) alyric (4) anelegy
Which literary device has been used in the expression “scarlet soldiers” ?
(1) metonymy (2) alliteration

(3) transferred epithet (4) simile

Where is the ‘sound” coming from ?

(1) From a group of commoners (2) From a contingent of soldiers
(3) From a market place (4) From a crowded street

What emotional state does ‘kneeling’ reflect ?

(1) anger (2) anxiety

(3) jubilation (4) indifference

The poem presents itself as a conversation...

(1) in a crowd (2) among a group of people

(3) Dbetween two persons (4) among three persons

Identify the rhyme scheme of these lines.
(1) abdc (2) baba (3) abab (4) abcb
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106.

107.

108.

109.

110.

111.

112.

According to Cummins’ interdependence hypothesis, which of these are interdependent on each
other :

(1) Basic interpersonal skills in first and second language.

(2) Comprehension and production in second language.
(8) Cognitive academic proficiency in first and second language.
(4) Reading and writing in second language.

Which of the following is linguistically CORRECT about languages and dialects ?
(1) There is no well-defined linguistic difference between a language and dialect.
(2)

(38) Languages and dialects are linguistically different but geographically same.
(4)

Languages have written literature but dialects are only based on oral traditions.
Languages have their own script but dialects do not have their own script.

Veera is a seven month old infant. She is now making vocalizations that combine consonants and
vowels. She is communicating using which of the following ?

(1) Linguistic speech. (2) Phonemes.
(3) Babbling. (4) Cooing.

Which of the following DOES NOT justify starting reading skills with words and short story texts
instead of letters and alphabets ?

(1) Separate letters are more difficult to memorise than words.
(2)
(8) Words and texts create meaningful associations which letters fail to do.
(4)

Beginner readers can focus better on bigger units than smaller units.
Words and texts are more interesting but letters are not.

What is productive vocabulary ?
(1) Words which are new to the reader.

(2) Words which are recognized as we hear.
(3) Words noticed when we read beyond the lines.
(4) Words that we use in writing and speaking.

In a speech community, it is observed that ‘s’ is pronounced differently by two different socio-
economic groups of speakers. This difference is an example of :

(1) A socio-psychological variable  (2) A socio-linguistic variable
(3) A pragmatic variable (4) A socio-cultural variable

Mark the INCORRECT statement among the following, regarding text-comprehension
strategies :

(1) Both skimming and scanning involve rapid eye movement through the text.

(2) Skimming involves going through the text rapidly while scanning involves looking for specific
facts.

(3) Skimming is more about in-depth reading while scanning is more of cursory reading.

(4) Skimming is more apt for reviewing while scanning helps more with answering particular
questions.
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113.

114.

115.

116.

117.

118.

119.

120.

Mother tongue based multilingualism advocates that
(1) all children study Hindi as their first language

(2) all children begin their schooling in their mother tongue or home language
(3) all children begin their schooling in the language of the State
(4) all children begin their schooling in English medium and in home language

Which of the following is NOT explained by the concept of Language Acquisition Device (LAD) ?
(1)  Why the linguistic output of children is more than the input they get.

(2)

(3) How children are able to learn language within a short span of 4-5 years.
(4)

How children learn their first language.
How children learn figurative language.

Which of the following is NOT a feature of the Grammar translation method of second language

teaching ?

(1) Focusing more on the form than the function of language.
(2) Comparing the grammatical rules of first and second language.

(3) Learning and practicing the rules of grammar of the second language.
(4)

4) Communicating directly in second language and then comparing the rules of grammar of

the two languages.

When children start using language to ask about things, events and phenomenon around them,
which of the following functions of language is used more than the others ?

(1) Heuristic. (2) Imaginative. (3) Regulatory. (4) Informative.

A teacher asks her students to reflect on how they have answered an experience-based question
she gave them and what and how they were thinking when they wrote that answer. This is an
example of :

(I) Metasemiotics. (2) Metacognition. (3) Metaphor. (4) Metalingualism.

Which of the following among Krashen’s hypotheses is similar to Vygotsky’s ZPD ?
(1)  Affective filter hypothesis (2) Input hypothesis
(3) Monitor hypothesis (4) Natural order hypothesis

Which of the following skills is NOT considered as a mark of reading with comprehension ?
(1) Mentally summarising the text read till now.

(2) Focusing on individual letters/ alphabets.
(3) Anticipating the content ahead.
(4) Organizing and assessing the sequence of events or ideas.

Which of the following features of human language enables humans to talk about things which
are not present in immediate time and space ?

(1) Discreteness. (2) Displacement.
(3)  Arbitrariness. (4) Structure Dependence.
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PART -V
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they have
opted for ENGLISH as LANGUAGE-II only.

Read the passage given below and answer the questions that follow : (121-128)

A couple of days later, there was a music recital in the Bharatendu Auditorium, one of the two
largest auditoriums in town. One of the performers was Ustad Majeed Khan.

Lata and Malati both managed to get tickets. So did Hema, a tall, thin and high-spirited friend of
theirs who lived with innumerable cousins-boys and girls-in a house not far from Nabiganj. They were
all under the care of a strict elder member of the family who was referred to by everyone as Tauji.
Hema’s Tauji had quite a job on his hands, as he was not only responsible for the well-being and
reputation of the girls of the family but also had to make sure that the boys did not get into the countless
kinds of mischief that boys are prone to. He had often cursed his luck that he was the sole representative
in a university town of a large and far-flung family. He had on occasions threatened to send everyone
straight back home when they had caused him more trouble than he could bear. But his wife, Taiji to
everyone, thought she herself had been brought up with almost no liberty or latitude, felt it was a great
pity that her nieces and grandnieces should be similarly constrained. She managed to obtain for the girls
what they could not obtain by a more direct approach.

This evening Hema and her cousin had thus succeeded in reserving the use of Tauji’s large maroon
Packard car and went around town collecting their friends for the concert. No sooner was Tauji out of
sight than they had entirely forgotten his outraged parting comment. “Flowers ? Flowers in your hair ?
Rushing off in exam time- and listening to all this pleasure - music! Everyone will think you are completely
dissolute-you will never get married.”

121. What does the underlined expression 'the boys are prone to' mean ?

(1) likely to have/get (2) sure to have/get

(3) not likely to have/get (4) impossible to have/get
122. Identify the word nearest in meaning to ‘constrained’.

(1) laid (2) arrested (3) caught (4) confined
123. What cultural show was being held in the town ?

(1) A blockbuster movie (2) A popular play

(3) A dance performance (4) A classical music recital

124. Identify the tense of the given expression “...... had thus succeeded...
(1) Present Perfect Tense (2) Simple Past Tense
(3) Past Perfect Tense (4) Simple Present Tense

125. What was Tauji’s duty as a family patriarch ?
(1) To cook for the youngsters
(2) To teach the youngsters
(38) To keep a strict watch on the youngsters” activities
(4) To get the youngsters married
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126. How did Taiji manage to get concessions for the girls ?
(1) By adopting an indirect approach (2) By arguing with Tauji
(3) By persuading Tauji (4) By fighting with Tauji

127. By nature and beliefs, Tauji can be described as a/an...
(1) agnostic (2) conservative (3) liberal (4) anarchist

128. State which of the following statements is True/False.
(A) Taiji was relatively liberal in her approach.
(B) Lata and Malati could not obtain tickets for the recital.
(1) (B) is True but (A) is False. (2) Both (A) and (B) are True.
(3) Both (A) and (B) are False. (4) (A) is True but (B) is False.

Read the passage given below and answer the questions that follow : (129-135)

I designed, after my first voyage, to spend the rest of my days at Baghdad, but it was not long ere
I grew weary of an indolent life and I put to sea a second time with merchants of known probity. We
embarked on board of a good ship and set sail. One day we landed on an island covered with several
sorts of fruit trees, but we could see neither man nor animal. While some diverted themselves with
gathering flowers, and other fruits, I took my wine and provisions and sat down near a stream betwixt
two high trees, which afforded a delightful shade. I made a good meal and afterwards fell asleep. When
I woke up, the ship was no longer in view.

In this sad condition, I was ready to die with grief. When I gazed towards the sea, I could discern
nothing but sky and water, but looking over the land I beheld something white, and coming down, I
took what provision I had left and went towards the object which was so distant that at first could not
distinguish what it was.

As I approached, I thought it to be a white dome of a prodigious height and extent. I drew near to
it, and walked round it and found no door to it. I found that I had not strength nor activity to climb it on
account of its exceeding smoothness. I went round the dome measuring its circumference. I meditated
upon some means of gaining an entrance into it but no means of accomplishing this occurred to me.

By this time the sun was about to set, and all of a sudden the sky became as dark as if it had been
covered with a thick cloud. I was much astonished at this sudden darkness but much more when I
found it occasioned by a bird of a most extraordinary size that came flying towards me. I remembered
that I had often heard mariners speak of a miraculous bird called the roc, and conceived that the great
dome which I so much admired must be her egg. Shortly afterwards the bird alighted and sat over the

egg.
129. The ‘White dome’ finally turned out to be...

(1) a luxurious mansion (2) amassive egg
(3) aroyal palace (4) a place of worship

130. The narrator left Baghdad because....
(1) He was weary of the city
(2) He was keen to visit another city
(3) He did not want to live a lazy life
(4) Both (1) and (3)

131. What did the narrator do after reaching the island ?
(1) He sat down for a filling meal.
(2) He took endless strolls around the island.
(3) He gathered fruits and flowers.
(4) He chatted with his colleagues.
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132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

P-I

After realising that the ship had left, the narrator.....
(1) did not react (2) felt amused
(3) was shocked (4) was relieved

Identify the tense of the underlined word in : ‘I drew near to it...."
(1) Future Perfect (2) Past Perfect (3) Simple Past (4) Simple Present

Identify the Part of Speech of the underlined word in the expression : “.... to die with grief.
(1) Preposition (2) Adverb (3) Adjective (4) Conjunction

Choose the word nearest in meaning to the underlined word : “...... of a prodigious height and

extent.

(1) marvellous (2) tall (3) large (4) narrow
Which of the following is NOT a desirable feature in children’s literature ?

(1) Attractive pictures. (2) Animal characters.

(3)  Explicit moral values. (4) Big font size and familiar words.

Basic Interpersonal Communicative Skills is known as :
(1) Interlanguage.

(2) Higher order language skills.

(3) Language of abstraction.

(4) Language used for day-to-day communication.

Which of the following DOES NOT help in creating an inclusive classroom ?
(1) Having some students as monitors in the class.

2)  Peer-group interaction and feedback system.

3) Giving team-tasks.

4) Adopting a multilingual approach.

o~~~

Which of the following is NOT true regarding the Monitor Hypothesis given by Stephen
Krashen ?

(1) The learner can only monitor if s/he has enough time and enough knowledge of the rules.
2) Itis used in the context of second language acquisition.

3) Itis based on the relationship between acquisition and learning.

4)  What is “acquired” helps in monitoring what is ‘learnt’.

o~~~

A teacher teaching English as second language to Hindi-speaking students provides them contexts
and opportunities to engage in little conversations in English without telling them explicit rules.
She presents examples before them which they use in their conversations. Gradually, they come
up with rules on their own with the help of the teacher. Which model/ approach do you think the
teacher is following ?

(1) Direct method. (2) Grammar translation method.

(3) Audio-lingual method. (4) Communicative approach.

Which of the following would not help in textual comprehension and vocabulary development ?
(1) Picture dictionaries. (2) Word-maps.

(3) Alphabet charts. (4) Theme-maps.
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142.

143.

144.

145.

146.

147.

148.

149.

150.

Which genre of stories are the most relevant to propagate multilingualism and multiculturalism ?
(1) Lengthy tale. (2) Folktales.
(3)  Autobiographies. (4) Science fiction.

Which of the following is NOT a feature of communicative approach ?
(1) Developing communicative competence.

(2) More focus on form than function.

(3) Contextualised use of language.

(4) Discovering rules of grammar instead of teaching explicitly.

When a beginner reader uses his/her general knowledge about the text theme, cultural aspects
etc. to make sense of the specific textual content, it is called :

(1) Bottom-down approach. (2) Top-down approach.
(3) Top-up approach. (4) Bottom-up approach.

Which of these statements is CORRECT regarding the two major types of assessment ?

(I) Summative assessment is done before and during the learning phase.

(2) Formative assessment focuses on the form rather than function of learning.

(3) Summative assessment is about the sum total of every form of assessment through the year.
(4) Formative assessment goes on continuously through the learning phase.

Error-analysis is important in order to look at the gaps in learning because :

(1) Errors show extent of concept development and motivation.

(2) Most errors are caused by callous attitude of the learners.

(3)  Errors are a window into the minds of the learners and their stage of learning.
(4) Errors indicate a lack in the understanding of the learners.

Which one of the following is NOT true about an assessment ?
(1) It can only be done by the teacher.

(2) It provides a holistic view of the student’s progress.

(3) It presents concrete evidence of the student’s performance.
(4) It helps to evaluate the pace of a student’s progress.

Which of the following is NOT considered a major domain of learning ?
(1) Psychomotor (2) Cognitive (3) Socio-cultural (4) Affective

Which of the following is NOT an example of formative assessment ?

(1) Assessment strategies ranging from short tests to peer-reviews throughout the session.

(2) A series of oral and written tasks, role-play etc. throughout the session.

(3) A term-paper at the end of the session.

(4) A combination of a comprehensive written test and few other tasks scattered over a period
of time.

Reading or writing “p” as ‘b’ or ‘6" as ‘9" is a common error among children with :
(1) Dyslexia. (2) Stuttering. (3) Aphasia. (4) Anomia.
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

1.

10.

1.

12,

13.

14,

15.

The manner in which the different questions are to be answered has been
explained in the Test Booklet which you should read carefully before actually
answering the questions.

Out of the four alternatives for each question, only one circle for the correct
answer is to be darkened completely with Blue / Black Ball Point Pen on
Side-2 of the OMR Answer Sheet. The answer once marked is not liable
to be changed.

The candidates should ensure that the OMR Answer Sheet is not folded. Do
not make any stray marks on the OMR Answer Sheet. Do not write your
Roll No. anywhere else except in the specified space in the Answer Sheet.

Handle the Test Booklet and OMR Answer Sheet with care, as under no
circumstances (except for discrepancy in Test Booklet Code or Number
and OMR Answer Sheet Code or Number), another set will be provided.

The candidates will write the correct Test Booklet Code and Number as
given in the Test Booklet/OMR Answer Sheet in the Attendance Sheet.

A machine will read the coded information in the OMR Answer Sheet.
Hence, noinformation should be leftincomplete and it should not be different
from the information given in the Admit Card.

Candidates are not allowed to carry any textual material, printed or written,
bits of papers, pager, mobile phone, electronic device or any other material
except the Admit Card inside the examination hall/room.

Mobile phones, wireless communication devices (even in switched off
mode) and the other banned items should not be brought in the examination
halls/rooms. Failing to comply with this instruction, it will be considered as
using unfair means in the examination and action will be taken against the
candidate including cancellation of examination.

Each candidate must show on demand his/her Admit Card to the Invigilator.

No candidate, without special permission of the Centre Superintendent or
Invigilator, should leave his/her seat.

The candidates should notleave the Examination Hall/Room without handing
over their OMR Answer Sheet to the Invigilator on duty and sign the
Attendance Sheet twice. Cases where candidate has not signed the
Attendance Sheet second time will be deemed not to have handed over the
OMRAnswer Sheet and dealt with as an unfair means case. The candidates
are also required to put their left hand THUMB impression in the
space provided in the Attendance Sheet.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and Regulations of the Examining
Body with regard to their conduct in the Examination Hall/Room. All cases
of unfair means will be dealt with as per Rules and Regulations of the
Examining Body.

No part of the Test Booklet and OMR Answer Sheet shall be detached under
any circumstances.

On completion of the test, the candidate must hand over the OMR
Answer Sheet to the Invigilator in the Hall /Room. The candidates
are allowed to take away this Test Booklet with them.

10.

1.

12,
13.

14,

15.
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